Convection is taking place in the water.  The water at the top of the beaker cools __________ rapidly than the water at the ______________, because it is in contact with the air which is at a lower temperature.  These cooler regions of fluid _______________ so their density ________________ and they sink.  Regions of warmer fluid, which are _________ dense, rise up to replace them.  This means the water is warmest at the _________ of the beaker, and coolest at the _____________ of the beaker.

Convection is also taking place in the air above the water.  The air at the __________________ of the water is warmed and so ______________ and decreases in density.  It rises, carrying _________ energy away with it.  _________ air sinks to replace it.  If we add a lid, it stops the convection current in the air by preventing the warm air escaping, which slows down the rate of cooling.
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